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Error or Issue Resolution 

Line x: Contract can’t be used; 
target value xx, xxx USD of 

contract exceeded by xx.xx USD 

 
Problem: This error occurs when the contract 
line item Target Value/Currency has been spent.      

                                                                                                                                                      
Solution: The Contract Owner needs to either 
increase the contract amount with their authority 

or re-bid the contract.  
 

  


